CONTRACTOR / CITY BASE BID -EXISTING PARKING LOT					truction Stockton	Patch Ma	aster/Fresno	AC Paving & Grading Sacramento		
TEM#	DESCRIPTION	QUANTITY	UNIT	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
1	PLACE VERTICAL CONCRETE CURB & GUTTER	216	LF	\$30.00	\$6,480.00	\$20.00	\$4,320.00	\$15.80	\$3,412.8	
2	CONSTRUCT TRASH ENCLOSURE (INCLUDING PAD)	1	LS	\$9,500.00	\$9,500.00	\$5,000.00	\$5,000.00	\$8,322.00	\$8,322.0	
3	PLACE 4" WIDE WHITE THERMOPLASTIC	400	LF	\$1.50	\$600.00	\$3.00	\$1,200.00	\$4.25	\$1,700.0	
4	REMOVE & REPLACE CONCRETE WHEEL STOP	g	EA	\$25.00	\$225.00	\$30.00	\$270.00	\$45.00	\$405.0	
5	PLACE 6' WIDE CONCRETE VALLEY GUTTER	105	LF	\$26.00	\$2,730.00	\$18.00	\$1,890.00	\$25.64	\$2,692.2	
6	PLACE CATCH BASIN	1	EA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,214.00	\$1,214.0	
7	REMOVE CHAIN LINK FENCE	273	LF	\$2.00	\$546.00	\$3.00	\$819.00	\$1.10	\$300.3	
8	PLACE 10" DIAMETER DUCTILE STORM DRAIN PIPE	53	LF	\$75.00	\$3,975.00	\$50.00	\$2,650.00	\$43.93	\$2,328.2	
9	SAWCUT ASPHALT CONCRETE	60	LF	\$2.00	\$120.00	\$2.00	\$120.00	\$3.54	\$212.4	
10	PLACE HANDICAP PARKING SYMBOL & SIGN	1	EA	\$300.00	\$300.00	\$1,500.00	\$1,500.00	\$375.00	\$375.0	
11	REMOVE ASPHALT CONCRETE & NATIVE	440	CY	\$25.00	\$11,000.00	\$28.00	\$12,320.00	\$32.99	\$14,515.6	
12	PLACE AGGREGATE BASE (CLASS 2 - 3/4" MAX. GRADING)	500	TN	\$22.00	\$11,000.00	\$25.00	\$12,500.00	\$30.25	\$15,125.0	
13	PLACE ASPHALT CONCRETE (TYPE "B", 3/4" MAX MED. GRADING)	385	TN	\$50.00	\$19,250.00	\$60.00	\$23,100.00	\$59.89	\$23,057.6	
14	SURVEYING & STAKING	1	LS	\$500.00	\$500.00	\$3,000.00	\$3,000.00	\$550.00	\$550.0	
15	MOBILIZATION	1	LS	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$3,759.00	\$3,759.0	
16	TRAFFIC CONTROL & CONSTRUCTION SIGNING	1	LS	\$500.00	\$500.00	\$500.00	\$500.00	\$250.00	\$250.0	
	TOTAL BASE BID				\$68,726.00		\$72,189.00		\$78,219.2	
ALTERNA	ATE BID NO. 1 - WELL 19 SITE IMPROVEMENTS									
TEM	DESCRIPTION	QUANTITY	UNIT							
1	PLACE 4" CLEANOUT	3	EA	\$350.00	\$1,050.00	\$200.00	\$600.00	\$186.00	\$558.0	
2	PLACE LEACH LINE	45	LF	\$50.00	\$2,250.00	\$20.00	\$900.00	\$22.42	\$1,008.9	
3	PLACE 4" DRAIN LINE	44	LF	\$35.00	\$1,540.00	\$20.00	\$880.00	\$22.42	\$986.4	
4	PLACE 3' WIDE CONCRETE VALLEY GUTTER	126	LF	\$14.00	\$1,764.00	\$9.00	\$1,134.00	\$17.65	\$2,223.9	
5	PLUG LATERALS	4	EA	\$175.00	\$700.00	\$200.00	\$800.00	\$41.00	\$164.0	
6	REMOVE CATCH BASIN	1	EA	\$550.00	\$550.00	\$500.00	\$500.00	\$637.00	\$637.0	
7	REMOVE & REPLACE CHAIN LINK FENCE	62	LF	\$20.00	\$1,240.00	\$20.00	\$1,240.00	\$28.27	\$1,752.7	
8	SAWCUT ASPHALT CONCRETE	84	LF	\$2.00	\$168.00	\$2.00	\$168.00	\$2.53	\$212.5	
9	REMOVE & REPLACE CHAIN LINK GATES	2	EA	\$400.00	\$800.00	\$300.00	\$600.00	\$544.00	\$1,088.0	
10	PLACE 6' CHAIN LINK GATE	2	EA	\$500.00	\$1,000.00	\$400.00	\$800.00	\$810.00	\$1,620.0	
11	REMOVE ASPHALT CONCRETE & NATIVE	63	CY	\$40.00	\$2,520.00	\$28.00	\$1,764.00	\$58.65	\$3,694.9	
12	PLACE ASPHALT CONCRETE (TYPE "B", 1/2" MAX MED. GRADING)	55	TN	\$50.00	\$2,750.00	\$110.00	\$6,050.00	\$95.90	\$5,274.5	
13	PLACE AGGREGATE BASE (CLASS 2 - 3/4" MAX. GRADING)	80	TN	\$22.00	\$1,760.00	\$40.00	\$3,200.00	\$52.55	\$4,204.0	
14	SURVEYING & STAKING	1	LS	\$300.00	\$300.00	\$2,500.00	\$2,500.00	\$500.00	\$500.0	
15	MOBILIZATION	1	LS	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$900.00	\$900.0	
16	TRAFFIC CONTROL & CONSTRUCTION SIGNING	1	LS	\$200.00	\$200.00	\$500.00	\$500.00	\$200.00	\$200.0	
	TOTAL ALTERNATE NO. 1 BID				\$19,392.00		\$22,636.00		\$25,024.9	

TERNA	TE BID NO. 2 - NEW 22 SPACE PARKING LOT								
M	DESCRIPTION	QUANTITY	UNIT						
1	SAWCUT ASPHALT CONCRETE	66	LF	\$2.00	\$132.00	\$2.00	\$132.00	\$3.48	\$22
2	REMOVE CURB, GUTTER & SIDEWALK	64	LF	\$22.00	\$1,408.00	\$13.00	\$832.00	\$40.09	\$2,56
3	PLACE 26' WIDE COMMERCIAL DRIVEWAY	2	EA	\$3,000.00	\$6,000.00	\$1,200.00	\$2,400.00	\$2,728.00	\$5,45
4	PLACE 3' WIDE CONCRETE VALLEY GUTTER	121	LF	\$13.00	\$1,573.00	\$10.00	\$1,210.00	\$15.51	\$1,87
5	PLACE CONCRETE SIDEWALK	82	SF	\$6.00	\$492.00	\$6.00	\$492.00	\$13.53	\$1,10
6	PLACE 6' CHAIN LINK FENCE WITH REDWOOD SLATS	123	LF	\$28.00	\$3,444.00	\$15.00	\$1,845.00	\$25.83	\$3,17
7	PLACE 12" DIAMETER STORM DRAIN PIPE	50	LF	\$45.00	\$2,250.00	\$30.00	\$1,500.00	\$43.63	\$2,18
8	PLACE CATCH BASIN	2	EA	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,214.00	\$2,42
9	PLACE CONCRETE CURB & GUTTER	172	LF	\$27.00	\$4,644.00	\$30.00	\$5,160.00	\$16.80	\$2,88
10	PLACE 10" DIAMETER STORM DRAIN PIPE	108	LF	\$40.00	\$4,320.00	\$30.00	\$3,240.00	\$43.93	\$4,74
11	PLACE 10" DIAMETER DUCTILE IRON STORM DRAIN PIPE	52	LF	\$70.00	\$3,640.00	\$50.00	\$2,600.00	\$43.93	\$2,28
12	PLACE STORM DRAIN MANHOLE	1	EA	\$1,300.00	\$1,300.00	\$5,000.00	\$5,000.00	\$2,773.00	\$2,77
13	PLACE CONCRETE CURB & OVERHANG	163	LF	\$30.00	\$4,890.00	\$25.00	\$4,075.00	\$7.90	\$1,28
14	PLACE CONCRETE VERTICAL CURB	270	LF	\$17.00	\$4,590.00	\$15.00	\$4,050.00	\$13.80	\$3,72
15	PLACE 4" WIDE WHITE THERMOPLASTIC	500	LF	\$1.50	\$750.00	\$3.00	\$1,500.00	\$2.00	\$1,00
16	PLACE "COMPACT" THERMOPLASTIC LEGEND	2	EA	\$40.00	\$80.00	\$40.00	\$80.00	\$20.00	\$
17	PLACE HANDICAP PARKING SYMBOL & 3 R100B SIGNS	1	LS	\$300.00	\$300.00	\$1,500.00	\$1,500.00	\$870.00	\$8
18	PLACE AGGREGATE BASE (CLASS 2 - 3/4" MAX. GRADING)	170	TN	\$25.00	\$4,250.00	\$25.00	\$4,250.00	\$71.43	\$12,1
19	PLACE ASPHALT CONCRETE (TYPE "B", 1/2" MAX MED. GRADING)	120	TN	\$50.00	\$6,000.00	\$100.00	\$12,000.00	\$79.21	\$9,5
20	LANDSCAPING								
	15 GALLON - AUSTRALIAN WILLOW TREE	2	EA	\$180.00	\$360.00	\$100.00	\$200.00	\$85.00	\$1
	15 GALLON - CRAPE MYRTLE TREE	5	EA	\$180.00	\$900.00	\$100.00	\$500.00	\$85.00	\$4
	15 GALLON - CHINESE PISTACHE TREE	5	EA	\$180.00	\$900.00	\$100.00	\$500.00	\$85.00	\$4
	1 GALLON - DWARF LILY OF THE NILE SHRUB	69	EA	\$16.00	\$1,104.00	\$33.00	\$2,277.00	\$19.00	\$1,3
	1 GALLON - LAVENDER TRAILING LANTANA SHRUB	20	EA	\$16.00	\$320.00	\$33.00	\$660.00	\$19.00	\$3
	5 GALLON - FRENCH LAVENDER SHRUB	36	EA	\$40.00	\$1,440.00	\$60.00	\$2,160.00	\$19.00	\$6
	5 GALLON - FRASER PHOTINA SHRUB	18	EA	\$40.00	\$720.00	\$60.00	\$1,080.00	\$19.00	\$3
	5 GALLON - DWARF INDIA HAWTHORN SHRUB	89	EA	\$40.00	\$3,560.00	\$60.00	\$5,340.00	\$19.00	\$1,6
	1 GALLON - SOCIETY GARLIC SHRUB	62	EA	\$16.00	\$992.00	\$33.00	\$2,046.00	\$19.00	\$1,1
	5 GALLON - BOSTON IVY VINE	g	EA	\$40.00	\$360.00	\$60.00	\$540.00	\$27.00	\$2
21	SPRINKLER SYSTEM								
	TORO 570Z - 6" - COM SPRINKLER	89	EA	\$30.00	\$2,670.00	\$30.00	\$2,670.00	\$20.45	\$1,8
	SPRINKLER NOZZLE	89	EA	\$5.00	\$445.00	\$30.00	\$2,670.00	\$2.50	\$2
	RAINBIRD PES-B VALVE	4	EA	\$260.00	\$1,040.00	\$150.00	\$600.00	\$150.00	\$6
	MASTER GATE VALVE	1	EA	\$260.00	\$260.00	\$300.00	\$300.00	\$240.00	\$2
	RAINBIRD 44-LRC WITH KEY	1	EA	\$300.00	\$300.00	\$150.00	\$150.00	\$195.00	\$1
	2" WILKINS #975XLUS REDUCED PRESSURE BACKFLOW	1	EA	\$1,310.00	\$1,310.00	\$2,500.00	\$2,500.00	\$3,401.00	\$3,4
	IRRITROL #MC +4 WALL MOUNT	1	EA	\$540.00	\$540.00	\$500.00	\$500.00	\$195.00	\$1
	2" DIAMETER SCHEDULE 40 PVC PIPE	60	LF	\$9.00	\$540.00	\$10.00	\$600.00	\$6.15	\$3
	CLASS 200 PVC PIPE (VARIOUS SIZES)	1,160		\$2.10	\$2,436.00	\$10.00	\$11,600.00	\$4.16	\$4,8
22	PARK LIGHT (INCLUDES ELECTRICAL HOOK UP)	4	EA	\$1,750.00	\$7,000.00	\$3,000.00	\$12,000.00	\$1,800.00	\$7,2
	ELECTRICAL CONDUIT	360	LF	\$7.50	\$2,700.00	\$15.00	\$5,400.00	\$11.00	\$3,9
	BICYCLE RACK (4 BIKE CAPACITY)	1	EA	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$537.00	\$5
25	SURVEYING & STAKING	1	LS	\$300.00	\$300.00	\$3,500.00	\$3,500.00	\$2,200.00	\$2,2
	MOBILIZATION	1	LS	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00	\$900.00	\$9
27	TRAFFIC CONTROL & CONSTRUCTION SIGNING	1	LS	\$200.00	\$200.00	\$500.00	\$500.00	\$430.00	\$4
	TOTAL ALTERNATE NO. 2 BID			+====	\$85,460.00	Ţ222300	\$120,159.00	Ţ125100	\$94,2
	DAGE DID. ALT DIDO 4 0 0				04=0==0		0011001		***
	BASE BID + ALT. BIDS 1 & 2 BASE BID + ALT. BID 1	-		-	\$173,578.00 \$88,118.00		\$214,984.00 \$94,825.00		\$197,4 \$103,2
	BASE BID	+	 	 	\$68,726.00		\$72,189.00		\$78,2

CONTRACTOR / CITY				KM Jackson Engr Stockton		B & W Consrtuction Sacramento		Antioch Paving Co. Antioch		Prism Engineering Stanton	
BASE BID -EXISTING PARKING LOT											
ITEM#	DESCRIPTION	QUANTITY	UNIT	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
,	PLACE VERTICAL CONCRETE CURB & GUTTER	216	LF	\$16.50	\$3,564.00	\$22.00	\$4,752.00	\$21.00	\$4,536.00	\$15.00	\$3,240.0
2	CONSTRUCT TRASH ENCLOSURE (INCLUDING PAD)	1	LS	\$7,200.00	\$7,200.00	\$6,500.00	\$6,500.00	\$6,600.00	\$6,600.00	\$8,000.00	\$8,000.0
;	PLACE 4" WIDE WHITE THERMOPLASTIC	400	LF	\$3.30	\$1,320.00	\$3.50	\$1,400.00	\$3.50	\$1,400.00	\$10.00	\$4,000.0
4	REMOVE & REPLACE CONCRETE WHEEL STOP	9	EA	\$44.00	\$396.00	\$20.00	\$180.00	\$40.00	\$360.00	\$100.00	\$900.0
	PLACE 6' WIDE CONCRETE VALLEY GUTTER	105	LF	\$33.00	\$3,465.00	\$34.00	\$3,570.00	\$40.00	\$4,200.00	\$30.00	\$3,150.0
(PLACE CATCH BASIN	1	EA	\$825.00	\$825.00	\$1,500.00	\$1,500.00	\$2,200.00	\$2,200.00	\$4,500.00	\$4,500.0
	REMOVE CHAIN LINK FENCE	273	LF	\$2.70	\$737.10	\$4.00	\$1,092.00	\$2.50	\$682.50	\$5.00	\$1,365.0
8	PLACE 10" DIAMETER DUCTILE STORM DRAIN PIPE	53	LF	\$68.00	\$3,604.00	\$60.00	\$3,180.00	\$71.50	\$3,789.50	\$100.00	\$5,300.0
ę	SAWCUT ASPHALT CONCRETE	60	LF	\$4.00	\$240.00	\$3.00	\$180.00	\$5.00	\$300.00	\$10.00	\$600.0
10	PLACE HANDICAP PARKING SYMBOL & SIGN	1	EA	\$1,100.00	\$1,100.00	\$325.00	\$325.00	\$360.00	\$360.00	\$1,000.00	\$1,000.0
11	REMOVE ASPHALT CONCRETE & NATIVE	440	CY	\$49.00	\$21,560.00	\$43.00	\$18,920.00	\$18.00	\$7,920.00	\$50.00	\$22,000.0
12	PLACE AGGREGATE BASE (CLASS 2 - 3/4" MAX. GRADING)	500	TN	\$25.00	\$12,500.00	\$50.00	\$25,000.00	\$53.00	\$26,500.00	\$35.00	\$17,500.0
13	PLACE ASPHALT CONCRETE (TYPE "B", 3/4" MAX MED. GRADING)	385	TN	\$63.00	\$24,255.00	\$74.00	\$28,490.00	\$70.00	\$26,950.00	\$85.00	\$32,725.
14	SURVEYING & STAKING	1	LS	\$2,200.00	\$2,200.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.0
15	MOBILIZATION	1	LS	\$6,800.00	\$6,800.00	\$2,000.00	\$2,000.00	\$23,000.00	\$23,000.00	\$10,000.00	\$10,000.0
16	TRAFFIC CONTROL & CONSTRUCTION SIGNING	1	LS	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.0
	TOTAL BASE BID				\$90,966.10		\$102,089.00		\$115,798.00		\$134,280.0
ALTERN	ATE BID NO. 1 - WELL 19 SITE IMPROVEMENTS										
ITEM	DESCRIPTION	QUANTITY	UNIT								
	PLACE 4" CLEANOUT	3	EA	\$110.00	\$330.00	\$90.00	\$270.00	\$610.00	\$1,830.00	\$500.00	\$1,500.0
2	PLACE LEACH LINE	45	LF	\$92.00	\$4,140.00	\$33.00	\$1,485.00	\$45.00	\$2,025.00	\$15.00	\$675.0
:	PLACE 4" DRAIN LINE	44	LF	\$22.00	\$968.00	\$32.00	\$1,408.00	\$45.00	\$1,980.00	\$15.00	\$660.0
4	PLACE 3' WIDE CONCRETE VALLEY GUTTER	126	LF	\$17.50	\$2,205.00	\$16.00	\$2,016.00	\$25.50	\$3,213.00	\$30.00	\$3,780.0
Ę	PLUG LATERALS	4	EA	\$33.00	\$132.00	\$120.00	\$480.00	\$280.00	\$1,120.00	\$700.00	\$2,800.
(REMOVE CATCH BASIN	1	EA	\$176.00	\$176.00	\$100.00	\$100.00	\$1,100.00	\$1,100.00	\$4,000.00	\$4,000.0
	REMOVE & REPLACE CHAIN LINK FENCE	62	LF	\$31.00	\$1,922.00	\$40.00	\$2,480.00	\$30.00	\$1,860.00	\$60.00	\$3,720.0
8	SAWCUT ASPHALT CONCRETE	84	LF	\$3.00	\$252.00	\$3.00	\$252.00	\$5.00	\$420.00	\$12.00	\$1,008.0
9	REMOVE & REPLACE CHAIN LINK GATES	2	EA	\$300.00	\$600.00	\$100.00	\$200.00	\$300.00	\$600.00	\$1,500.00	\$3,000.
10	PLACE 6' CHAIN LINK GATE	2	EA	\$450.00	\$900.00	\$250.00	\$500.00	\$450.00	\$900.00	\$1,000.00	\$2,000.0
1	REMOVE ASPHALT CONCRETE & NATIVE	63	CY	\$60.00	\$3,780.00	\$43.00	\$2,709.00	\$22.00	\$1,386.00	\$50.00	\$3,150.
12	PLACE ASPHALT CONCRETE (TYPE "B", 1/2" MAX MED. GRADING)	55	TN	\$62.00	\$3,410.00	\$74.00	\$4,070.00	\$70.00	\$3,850.00	\$100.00	\$5,500.0
	B PLACE AGGREGATE BASE (CLASS 2 - 3/4" MAX. GRADING)	80	TN	\$26.00	\$2,080.00	\$50.00	\$4,000.00	\$53.00	\$4,240.00	\$45.00	\$3,600.
14	SURVEYING & STAKING	1	LS	\$550.00	\$550.00	\$500.00	\$500.00	\$2,200.00	\$2,200.00	\$10,000.00	\$10,000.
15	MOBILIZATION	1	LS	\$1,200.00	\$1,200.00	\$500.00	\$500.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.
16	TRAFFIC CONTROL & CONSTRUCTION SIGNING	1	LS	\$600.00	\$600.00	\$500.00	\$500.00	\$800.00	\$800.00	\$10,000.00	\$10,000.
	TOTAL ALTERNATE NO. 1 BID				\$23,245.00		\$21,470.00		\$37,524.00		\$65,393.

<u>ALT</u> ERN	IATE BID NO. 2 - NEW 22 SPACE PARKING LOT										1
ITEM	DESCRIPTION	QUANTITY	UNIT								
	1 SAWCUT ASPHALT CONCRETE	66	LF	\$4.00	\$264.00	\$3.00	\$198.00	\$5.00	\$330.00	\$10.00	\$660.00
	2 REMOVE CURB, GUTTER & SIDEWALK	64	LF	\$110.00	\$7,040.00	\$7.00	\$448.00	\$22.00	\$1,408.00	\$12.00	\$768.00
	3 PLACE 26' WIDE COMMERCIAL DRIVEWAY		EA	\$2,400.00	\$4,800.00	\$3,200.00	\$6,400.00	\$2,700.00	\$5,400.00	\$5,000.00	\$10,000.00
	4 PLACE 3' WIDE CONCRETE VALLEY GUTTER	121	LF	\$18.00	\$2,178.00	\$16.00	\$1,936.00	\$25.00	\$3,025.00	\$25.00	\$3,025.00
	5 PLACE CONCRETE SIDEWALK	82	SF	\$5.50	\$451.00	\$5.00	\$410.00	\$10.00	\$820.00	\$10.00	\$820.00
	6 PLACE 6' CHAIN LINK FENCE WITH REDWOOD SLATS	123	LF	\$28.00	\$3,444.00	\$17.00	\$2,091.00	\$29.00	\$3,567.00	\$20.33	\$2,500.59
	7 PLACE 12" DIAMETER STORM DRAIN PIPE	50	LF	\$33.00	\$1,650.00	\$34.00	\$1,700.00	\$60.00	\$3,000.00	\$60.00	\$3,000.00
	8 PLACE CATCH BASIN	2	EA	\$825.00	\$1,650.00	\$750.00	\$1,500.00	\$2,200.00	\$4,400.00	\$3,000.00	\$6,000.00
	9 PLACE CONCRETE CURB & GUTTER	172	LF	\$61.00	\$10,492.00	\$22.00	\$3,784.00	\$20.00	\$3,440.00	\$15.00	\$2,580.0
1	0 PLACE 10" DIAMETER STORM DRAIN PIPE	108	LF	\$16.00	\$1,728.00	\$34.00	\$3,672.00	\$53.00	\$5,724.00	\$83.33	\$8,999.6
1	1 PLACE 10" DIAMETER DUCTILE IRON STORM DRAIN PIPE	52	LF	\$35.00	\$1,820.00	\$60.00	\$3,120.00	\$70.00	\$3,640.00	\$80.00	\$4,160.0
1	2 PLACE STORM DRAIN MANHOLE	1	EA	\$2,200.00	\$2,200.00	\$2,500.00	\$2,500.00	\$4,700.00	\$4,700.00	\$2,000.00	\$2,000.0
1	3 PLACE CONCRETE CURB & OVERHANG	163	LF	\$22.00	\$3,586.00	\$22.00	\$3,586.00	\$31.00	\$5,053.00	\$15.00	\$2,445.00
1	4 PLACE CONCRETE VERTICAL CURB	270	LF	\$14.00	\$3,780.00	\$17.00	\$4,590.00	\$17.00	\$4,590.00	\$10.00	\$2,700.0
	5 PLACE 4" WIDE WHITE THERMOPLASTIC		LF	\$3.00	\$1,500.00	\$3.30	\$1,650.00	\$4.00	\$2,000.00	\$5.00	\$2,500.00
	6 PLACE "COMPACT" THERMOPLASTIC LEGEND	2	EA	\$130.00	\$260.00	\$30.00	\$60.00	\$40.00	\$80.00	\$400.00	\$800.00
1	7 PLACE HANDICAP PARKING SYMBOL & 3 R100B SIGNS	1	LS	\$1,780.00	\$1,780.00	\$555.00	\$555.00	\$600.00	\$600.00	\$400.00	\$400.0
1	8 PLACE AGGREGATE BASE (CLASS 2 - 3/4" MAX. GRADING)	170	TN	\$50.00	\$8,500.00	\$50.00	\$8,500.00	\$70.00	\$11,900.00	\$35.00	\$5,950.00
1	9 PLACE ASPHALT CONCRETE (TYPE "B", 1/2" MAX MED. GRADING)	120	TN	\$90.00	\$10,800.00	\$74.00	\$8,880.00	\$91.00	\$10,920.00	\$80.00	\$9,600.0
2	0 LANDSCAPING										
	15 GALLON - AUSTRALIAN WILLOW TREE	2	EA	\$181.00	\$362.00	\$40.00	\$80.00	\$238.00	\$476.00	\$700.00	\$1,400.0
	15 GALLON - CRAPE MYRTLE TREE		EΑ	\$181.00	\$905.00	\$40.00	\$200.00	\$238.00	\$1,190.00	\$300.00	\$1,500.0
	15 GALLON - CHINESE PISTACHE TREE		EA	\$181.00	\$905.00	\$40.00	\$200.00	\$238.00	\$1,190.00	\$300.00	\$1,500.0
	1 GALLON - DWARF LILY OF THE NILE SHRUB	69	EA	\$27.00	\$1,863.00	\$10.00	\$690.00	\$18.00	\$1,242.00	\$34.49	\$2,379.8
	1 GALLON - LAVENDER TRAILING LANTANA SHRUB	20	EA	\$28.00	\$560.00	\$10.00	\$200.00	\$18.00	\$360.00	\$60.00	\$1,200.0
	5 GALLON - FRENCH LAVENDER SHRUB	36	EA	\$44.00	\$1,584.00	\$15.00	\$540.00	\$55.00	\$1,980.00	\$37.78	\$1,360.0
	5 GALLON - FRASER PHOTINA SHRUB	18	EA	\$44.00	\$792.00	\$15.00	\$270.00	\$55.00	\$990.00	\$70.56	\$1,270.0
	5 GALLON - DWARF INDIA HAWTHORN SHRUB	89	EA	\$44.00	\$3,916.00	\$15.00	\$1,335.00	\$55.00	\$4,895.00	\$26.24	\$2,335.3
	1 GALLON - SOCIETY GARLIC SHRUB	62	EA	\$27.00	\$1,674.00	\$10.00	\$620.00	\$19.00	\$1,178.00	\$26.13	\$1,620.0
	5 GALLON - BOSTON IVY VINE	+	EA	\$44.00	\$396.00	\$50.00	\$450.00	\$55.00	\$495.00	\$128.89	\$1,160.0
2	1 SPRINKLER SYSTEM				• • • • • • • • • • • • • • • • • • • •	,	,	,	,	,	
	TORO 570Z - 6" - COM SPRINKLER	89	EA	\$27.00	\$2,403.00	\$15.00	\$1,335.00	\$39.00	\$3,471.00	\$10.00	\$890.0
	SPRINKLER NOZZLE	89	EA	\$6.00	\$534.00	\$10.00	\$890.00	\$3.00	\$267.00	\$10.00	\$890.0
	RAINBIRD PES-B VALVE	4	EA	\$275.00	\$1,100.00	\$50.00	\$200.00	\$360.00	\$1,440.00	\$80.00	\$320.0
	MASTER GATE VALVE	1	EA	\$220.00	\$220.00	\$100.00	\$100.00	\$320.00	\$320.00	\$250.00	\$250.0
	RAINBIRD 44-LRC WITH KEY	1	EA	\$110.00	\$110.00	\$200.00	\$200.00	\$350.00	\$350.00	\$250.00	\$250.0
	2" WILKINS #975XLUS REDUCED PRESSURE BACKFLOW	1	EA	\$880.00	\$880.00	\$200.00	\$200.00	\$900.00	\$900.00	\$250.00	\$250.0
	IRRITROL #MC +4 WALL MOUNT	1	EA	\$1,100.00	\$1,100.00	\$500.00	\$500.00	\$595.00	\$595.00	\$250.00	\$250.0
	2" DIAMETER SCHEDULE 40 PVC PIPE	60	LF	\$11.00	\$660.00	\$4.00	\$240.00	\$5.00	\$300.00	\$10.00	\$600.0
	CLASS 200 PVC PIPE (VARIOUS SIZES)	1,160		\$4.00	\$4,640.00	\$3.00	\$3,480.00	\$5.00	\$5,800.00	\$2.00	\$2,320.0
2	2 PARK LIGHT (INCLUDES ELECTRICAL HOOK UP)	4	EA	\$1,980.00	\$7,920.00	\$2,500.00	\$10,000.00	\$1,900.00	\$7,600.00	\$2,500.00	\$10,000.0
	3 ELECTRICAL CONDUIT	360	LF	\$12.00	\$4,320.00	\$2.00	\$720.00	\$22.00	\$7,920.00	\$20.00	\$7,200.00
	4 BICYCLE RACK (4 BIKE CAPACITY)	1	EA	\$2,000.00	\$2,000.00	\$400.00	\$400.00	\$3,300.00	\$3,300.00	\$2,000.00	\$2,000.00
	5 SURVEYING & STAKING	1	LS	\$1,650.00	\$1,650.00	\$1,000.00	\$1,000.00	\$6,000.00	\$6,000.00	\$15,000.00	\$15,000.00
	6 MOBILIZATION	1	LS	\$12,500.00	\$12,500.00	\$500.00	\$500.00	\$17,500.00	\$17,500.00	\$10,000.00	\$10,000.00
	7 TRAFFIC CONTROL & CONSTRUCTION SIGNING		LS	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.0
	TOTAL ALTERNATE NO. 2 BID			, 5,555.30	\$125,917.00	Ţ222.00	\$80,430.00		\$147,356.00	, 2,222.00	\$140,853.6
	DACE DID . ALT DIDC 4 0 2			.	#040 400 10		\$200.000.00		\$200 070 CC		6040 F00 0
	BASE BID + ALT. BIDS 1 & 2 BASE BID + ALT. BID 1	1		 	\$240,128.10 \$114,211.10		\$203,989.00 \$123,559.00		\$300,678.00 \$153,322.00		\$340,526.63 \$199,673.00
	BASE BID	1	†		\$90,966.10		\$102,089.00		\$115,798.00		\$134,280.00